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X p3lie ©lw median(x)
X ol Gbsly rvar(x)
X slie jlas B 50l sd(x)
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> set.seed(10)
> x <= rnorm(100)
> mean (x)
[1] -0.1365489
> sd(x)
[1] 0.9412359
> var(x)

[1] 0.885925



> median(x)

[1] -0.1933164
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> y <= scan()

1: 1 50 6 10 85 NA
7:

Read 6 items

> mean(y)

[1] NA

> mean(y , na.rm=T)

[1] 30.4

3] S | e sbSuz ols s quantaile(x.p) @\3 shesteal b

> quantile(x)
0% 25% 50% 75% 100%

-2.1852868 -0.8290776 -0.1933164 0.5933604 2.2205197

S croi,SLo pazin e (53 iy ssba quantaile(x.p) &b S e
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> set.seed(10)
> x <- rnorm(100)
> a <- seq(0,1,0.1)
> quantile(x,a)
0% 10% 20% 30% 40% 50%

-2.32101703 -1.36779025 -1.10005315 -0.68135560 -0.40052066 0.06175308
60% 70% 80% 90% 100%

0.31773630 0.62061624 0.77836759 1.07208676 2.06820961

QR() g s 5355 sl (S 0o s sl Sls 5 03 S Ll
s sl L8

> IQR(x)

[1] 1.422438
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> summary (Loblolly)

height age Seed



Min.

1st Qu.

Median

Mean

3rd Qu.

Max.

(Other) :

:10

:34.

:32

:51

:64.

.46

.47

00

.36

.36

10

Min.

1st Qu.:

Median

Mean

3rd Qu.

Max.

:12.

:13.

:20.

:25.

329 : 6
327 : 6
325 : 6
307 : 6
331 : 6
311 : 6

443\:.&5 cd)‘ g_§)L;> cro:.l.:.n J.a“btin summary() c.sb LS‘J’\ A lS 45‘.:_..:;‘5@
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> attach(Loblolly)

> names(Loblolly)

[1] "height" uageu "Seed"

> summary (height)

3,8 eslis) ol Loblolly esls 4¢ oo

Min. 1st Qu. Median Mean 3rd Qu. Max.

3.46 10.47 34.00 32.36 51.36 64.10
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Bl U o5 50 oS3k e bl S Dbl 5 slasl ucs

1,2,8,4,5,14,31,26,0,0,0,32,12,9,15,17,20,50, 3, 62

F:SSQ 5ls 05 Shgo 4 scan() Hgews b1y Lassls

> scores <- scan()

1: 12845 14 31 26 00 0 32 12 9 15 17 20 50 3 62

21:

Read 20 items

rf‘gLfA (== \J 3J::3 4}‘.&)‘3}& stem() csb \g}

> stem(scores)

The decimal point is 1 digit(s) to the right of the |

0 | 00012345892457



2 | 0612
410

6 | 2
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> stem(islands)

The decimal point is 3 digit(s) to the right of the |

0 | 00000000000000000000000000000111111222338
2] 07

415

10 | 5
12 |
14 |

16 1 0

> stem(loglO(islands))

The decimal point is at the |

1 | 1111112222233444
1 | 5555556666667899999
2 | 3344

2 | 59

\Y



3
3 | 5678

4 | 012
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hist(x, breaks="Sturges”, prob=FALSE)
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> x=rnorm(1000)

> hist(x)

Histogram of x
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> hist(x,nclass=7)
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Histogram of x
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> x <- rchisq(100, df = 4)

> hist(x, freq = FALSE)

Histogram of x
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> tmp <- hist(trees$Volume)

> lines(c(min(tmp$breaks) ,tmp$mids,max (tmp$breaks)),

+ c(0,tmp$counts,0),1ty=5,1wd=1.75)
> legend("topright",c("Histogram","Freq.polygon"),

+ 1ty=c(NA,5) ,1lwd=c(NA,1.75) ,pch=c(22,NA) ,inset=0.05)

e 35S 8 58 tmp & s ¢St Dot oL Lyl (358 (slasS
breaks plasSyl sl -35se 03l ol Sgicn slaoleS)T 51 Tines() &6 L3
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Histogram of trees$Volume

o
= [N
! ~ o Histogram
5 - Freq.polygon
N
\
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Frequency
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trees$Volume
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60

40 |

20

Girth Height Volume

6{:5\; @\3 3 -.stT Cews @ |y boxplot (834 Slasin O‘ﬁs" ‘C,jig Lol
Jf\ ! (TRUE)Q@JJ QT D2 A Hlade oS syl 39> 9 plot L;E’Ja.‘.c uLojfj

P Opes b §3as ,lie o\&5T 3 g S yn b C)Lojfjoﬁ\ Hldde

> boxplot(trees,plot=FALSE)
$stats

[,11 [,21 [,3]

[1,] 8.30 63 10.2

[2,] 11.05 72 19.4

[3,] 12.90 76 24.2

[4,] 15.25 80 37.3

[5,]1 20.60 87 58.3

$n

[1] 31 31 31
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$conf
[,1] [,2] [,3]
[1,] 11.70814 73.72979 19.1204

[2,] 14.09186 78.27021 29.2796

$out

(11 77

$group

(11 3

$names

[1] "Girth" "Height" "Volume"
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> x=c("Yes","No","No","Yes","Yes")

> table(x)

X

No Yes
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> uni=scan()

1: 3411343313212123231111431
26:

Read 25 items

> barplot(uni)
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> tuni=table(uni)

> barplot(tuni)
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> names (tuni)=c("bus","car","personal car","walk")

> barplot(tuni)

bus car

a:m..»‘j“j D J‘ nosls (MJJ)WMJ 6:‘3‘).9 > 6‘4L:A J‘J}Q (= 6‘:3

S

personal car walk

povel |

walk

personal car

barplot (tuni/length(uni))

bus car

.,\..Su.o .>L>u“‘ \) assls W Lf’b‘fé d_g.\} 5B) )):..».5

04

0.3

02

0.1

00
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> tuni/length(uni)
bus car personal car walk

0.40 0.16 0.32 0.12

:6‘ox‘aj‘.>}a.; Y‘“\‘
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> blood=sample(c("A" , "B" , "AB" , "0"),20,replace=T)
> blood
(1] "B™ "A™ Q" "A"™ "Q" "B"™ "A" "Q" "B" "A"™ "B" "B" "B" "A" "AB"
[16] "O" "B"™ "Q" "A" "A"
> tblood=table(blood)
> tblood
blood
AAB B O
7 1 7 5
> blood
(1] "B™ "A™ Q" "A"™ "Q" "B"™ "A" "Q" "B" "A"™ "B" "B" "B" "A" "AB"
[16] "O" "B"™ "Q" "A" "A"

> pie(tblood)
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> choose(5,4)
[1]1 5
> choose(5,3)
(11 10
> choose(5,2)
[1] 10
> choose(5,1)

(11 5
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